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PEI CHUN PUBLIC SCHOOL

PRELIMINARY EXAMINATION, 2012

MATHEMATICS
PAPER 1
(BOOKLET A)

Additioal materials: Optical Answer Sheet (OAS)  Total Time For Booklets A & B : 50 min

Name : ¢ )

Class : Primary 6

Date : 31 July 2012

INSTRUCTIONS TO CANDIDATES

DO:NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL THE QUESTIONS.

SHADE YOUR ANSWERS IN THE OPTICAL ANSWER SHEET (OAS) PROVIDED.

YOU ARE NOT ALLOWED TO USE A CALCULATOR.



Questions 1 to 10 canry 1 mark each. Quéstions 1 to 15 carry 2 marks sach,

For each question, four options are given. One of them is the correct answer. Make your
choice (1, 2, 3 or 4). Shade the correct oval (1. 2, 3 or 4) on the Optical Answer Sheet.

( 20 marks )

1. What does the digit 6 in 6 712 458 stand for?

(1) 6 000 000

(2) 600000

(3) 6000

4 6 ( )
2. °  The length of a schoo! bus is about

(1) 9m

{2) 9cm

(3) 90 m

(49 90cm ( )
3. Whatis the value of (6 + 27) =~ 3-4x2 7

mn 7

{2) 14

.(3) 3

(4 22 ' ( )

4, A movie started at 20 45 and ended at 22 34. How long was the movie?

(1) 2h49 min
(2) 2h11min
3) 1h 51 min

(4  1h49min ( )
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What is the value of 12.3 =~ 600?

0.0205

5,
1y 29
@ 30
(3) s7
) 58
6.
1
(2) 0205
(3 0.025
4) 025
7.
Hema left?
4
(1) 7
5
(2) =
12
(3} 20 ¢
30
{4) ey £

MAIP6{PL {2012
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1
How many eighths are there in 72

Page 2 of 6

6 2 '
Hema had 7 £ of orange juice. She drank 7 of it. How much arange juice had

{Go on to the next page)



. 2 '_
‘8. Whatis the value of 9 + —4’4 when y = 82

() .16
A(2) 13
(3) 11
@ s

9. Ahmad paid $180 for a waich after a discount of 10%. What was the price of the

watch before the discount?

(1) s$i62
(2)  $190
@) $198
'(4) $200

10.  The figure below shows the total mass of 4 identical cubes,

0
g
600 2040
%
300

What is the mass of each cube?

(1) 11og
(2) 120g
(3} 440g

(4) 480g

MAP&/PLI2012 Page 3 of 6
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11.  Jake saves a‘certain-amount of money every day.- The fable below shows the
- - amount of money he saves every day.

Day Amount of money
. Monday to Friday $3 per day
Saturday and Sunday $6 perday

=

What s the least number of days Jake will take to save $60?

(1

@

3
(4)

14
15
16

17

12.  The figure below is made up of eight squares of side 6 cm.

What is the perimeter of the figure?

(1)  114cm
(2) 108cm
(3) 102cm
(4 9cm
MA/PGIPLI 2012
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13, The line graph below shows the number of fishes in apond from 2005 to 2009, .

200
Number
of fishes 100
0

2005 2006 2007 2008 2009

What was the percentage decrease in the number of fishes from 2005 to 20097

(1)  150%

@ 120%

(3) 60%

4 40% ( )

14. Ken glued 10 identical 2-cm cubes together to form the sofid figure as shown
below. He painted the whole solid figure, including the base, yellow.

'What was the total area of the 10 cubes which was painted yellow?

(1) 128 cm?

2 132em?

3) 136cm®

(4) 140 cm?® ' ( )

MASP6PL /2012 Page 5of6 (Go on ta the next page)




101

15.  Thenetof a cubeis white on one side and’

tave different pattems on the other side
as shown in the figure below. ’

1IE

Y

Which of the following could be the cube formed by the net shown abave?

(1 - @
®HE|; e=s

4)

End of Booklet A
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- PEI CHUN PUBLIC SCHOOL

PRELIMINARY EXAMINATION, 2012

MATHEMATICS
PAPER 1
(BOOKLET B)

Total Time For Booklets A & B: 50 min

Name ; « )

Class : Primary 6

Date : 31 July 2012 : 20

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO,
FOLLOW ALL INSTRUCTIONS CAREFULLY.

ANSWER ALL QUESTIONS.

SHOW YOUR WORKING CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.

WRITE YOUR ANSWERS IN THIS BOOKLET. -
YOU ARE NOT ALLOWED TO USE A CALCULATOR.



Questions 16 to 25 cany 1 mark each. . Write your answers in the spaces provided.

Danotwite
For questions which require units, give your aaswers in the units stated. (10 marks ) | inthisspace
16. Write the fraction represented by the letter Cin ifs simplest form.
- €
I Y N O O I I
| B! ] {
0 1 2 1
’ 3 3
Ans:
17.  Express 4 h 45 min in hour.
Ans: h
18.  Find the value of 10 + %
Ans :
19.  Find the value of g- + % Give your answer as a mixed number in its simplest
form.
Ans :
SCORE
MA{P6{PLI2012
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20. A group of children was asked to choose their favourite subjects. The pie chart
below shows their choices. What fraction of the children chose Mother Tongue?

Ans:

.21, The pattem in the box below shows part of a fessellation. Extend the tessellation . .

by drawing three more unit shapes in the space provided within the box.

R-~-~~ : : ———-

N

SCORE

MA/PG/PL 2012 Page 2 of 6 {Go on to the next page)
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-Z3, [Ne Tigure peiow snows Z lines GH and EH. Lines (GH and £ are two siaes

of a thombus EFGH. Draw and tabel the'thombus by completing the figure
below, .- )

Do not write
in this space

24.  The table below shows the charges fo rent a bicycle.

Rental Charges (per bicycle)
For the first hour $5.00
S 1
For every-.g;_l_;d-‘d‘l‘tmnal 5 hour or part thereof $2.00
Sue rented a b

icycle from 1.15 p.m. t0 3.15 p.m. How much did she pay?

Sueu

SCORE

{Go on to the next page)




"25.  The figure below shows a trapezium PQRS. What is the area of the shaded Part? { ponotw
in this sg -

Ans :  om?

Questions 26 to 30 camry 2 marks each. Show your working clearly in the space below
-each question and write your answers in the spaces provided. For questions which require
units, give your answers in the units stated- ( 10 marks )

26, The perimeter of a rectangle is 40 cm. The ratio of its length to its breadth is 3 : 2.
. What is the area of the rectangle?

Ans : cm

SCORE
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1 .
Dén had some money He spent Z of if on d belt and 2 of the remalnderon a
watch, He had $68 left How much money had Don at ﬁfst?
Ans: §
28.  Arectangular tank, 8 m long and 5 m wide, was 25% filied with water. When Uma

poured another 96 m® of water into the {ank, the tank became 45% filled with water.|.

Find the height of the tank in metres.

Ans: m

MASPEIPL {2012 Page 50of 6

SCORE
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29.  The figure below shows a quarter citcle of radius 10 cm and two identical quarter
circles of radius 7 cm. Find the perimeter of the figure in terms of 1.

10 cm

Ans: cm

30. Jen had 250 stickers more than Ida at first. After Jen gave lda 180 stickers,
Ida had tivice as many stickers as Jen. How many stickers did Ida have at first?

Ans :

Set b_'y : Mr Stanley Soh

MAIPS1PL {2012

End of Booklet B SCORE

Do not wite
ia this space
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PE! CHUN PUBLIC SCHOOL

PRELIMINARY EXAMINATION, 2012

MATHEMATICS
PAPER 2
'l"imé: .1 .h- 40 mi;':

Paper 1 .

(Bookiet Ay 20
Name : ( ) Paper 1
Class : Primary 6 (Bookiet B) 20 ,
Date : 31 July 2012 Paper 2 60
Parent’s Signature: TOTAE 190

INSTRUCTIONS TO CANDIDATES

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO S0.
FOLLOW ALL INSTRUCTIONS CAREFULLY.
ANSWER ALL QUESTIONS.

SHOW YOUR WORKING:CLEARLY AS MARKS ARE AWARDED FOR CORRECT WORKING.

. WRITE YOUR ANSWERS.IN. THIS BOOKLET.
YOU ARE ALLOWED TO USE A CALCULATOR.




Questions 1 te 5 carry 2 marks each. Show your working clearly in the space provided for
each question and write your answers in the spaces provided. For questions which require
units, give your answers in the units stated. - ( 10 marks )

1.

Jim, Kenand Leon were standing on different squares of a grid as shown below.

Jim

Ken

Leon

(a) Marcus was standing to the east of Lean and soutn-east of Ken.
Put a tick (v') in the square where Marcus was standing.

(b)  After tuming 225° in a clockwise direction, Jim faced north-east. Which
direction was Jim facing at tirst?

Ans: (b)

-

Mrs Yong baked 12# cookies at first. She ate 7h cookies and gave each of her
4 children an equal number of cookies. In the end, Mrs Yong had 3 cookies left.
How many cookies did each child get?. Give your answers in terms of A,

Ba not write
in @¥s space

SCORE

MA /PG /PL /2012 Page 1 of 14 {Go on to the next page)
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3.- In the figure below ABD is an equilateral triangle, BCD is an isosceles tnangle
and BEDF is arectangle. ZBCD = 55° ZFDC'=20° and BD = CD. Find ZABE.

A

4. At a zoo, -;- of the children were gitfls and -:1; of the girls wore caps. If g— of the

boys wore caps, what fraction of the ch:ldren wore caps? Give your answer in its
~ simplest form.

MA/P6 PL /2012

Page 2 of 14

"SCORE
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5. Ali and Deepan shared a carton of blue markers and green markers equally. Do not waite
Ali took three fimes as many-blue markers as Deepan. The ratio of the number of | in this space
green markers Deepan took fo the number of the green markers Ali took was 9 - 5.

. What was the ratio of the number of biue markers Ali toagk to the number of green
markers Ali took? -

SCORE

WIPGIPL/I 2012 - ' Page 3 of 14 . {Go on to the next page)




For questions 6 fo 18, show your working. clearly in the space provided for each question
- and wrife your answers in the spaces provided. The niumber of marks available is shown
- in‘brackets [ ] atthe end of each question or part-question.

107

_ (Total: 50 marks )

6. John spent $1200 of his monthly salary and saved the rest. If he decréased his
spending by 14%, his savings increased by 20%. How much was John's monthly

salary?

Ans :

3]

7. The table below shows the marks Peter and Sue scored for 3 tests. Peter and

Sue's marks for Test 3 were covered by ink blots.

Peter's marks Sue's marks
Test 1 83 78
Test 2 74 75
CONNE . AR S

Peter’s average marks for the 3 tests was 5 marks more than Sue's average marks
for the 3 tests. How many more marks than Sue did Peter score for Test 37

381

MA /PG IPL.[2012

Page 4 of 14

SCORE

{Go on to the next page)
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8. Atfirst, Paul had'somé mitk. Each day, he drank an equal amount of mitk. Atthe | po s wile
in this space

endofﬁ:ee"day— = of his'milk was left. At the end of the 9% day, he had 0.92 ¢ A
of milk left. How many litres of milk did Paul have at ﬁrst?

Ans : |[31

9. Ben bought some tables and chairs. Each table cost $36 and each chair cost $28
He bought +~ as many tables as chairs. He spent $608 less on the tables than on
the chairs. How much money did Ben Spend on the tables and chairs altogether?

-

Ans : {4]

SCORE

MA P&/ PL /2012 Page 5 of 14 (Go on to the next page)




10. .Thepi_echar_tbe!owshfowsﬂietype_ofmufﬁns,sold-atashcwplastweek. The shop

108

sold 900.muffins inall. Half of the muffins sold were chocotate. The shop sold
20% more chieese muffins than vanifla muffins. :

Banana

‘(a) How many banana muffins did the shop selt?
(b)  What percentage of the muffins sold last week were cheese muffins?
Ans: (a) ' [1]
(b) - 31
SCORE
Page 6 of 14
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11, - Atafuit stall, there are 4 types of fruits: apples, oranges, pears and durians. 7 Do not waite
The bar graph below shows the number of each.type of fruits at the stall. .The bar in this space
that shows the number of durians has not been drawn.

200 —

‘Number
of fruits

3
3
|

MAAAL A S LA A mr s AcaE AL AL a A AR EE R en
L e O X T I

N

o

| .
REARRBER

.......

Apples Oranges Pears Durians

If 20% of the fruits at the stall are durians, how many durians are there?

Ans : 3]

SCORE

MAP6TPL/2012 Page 7 of 14 {Go on to the next page)
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12.  Minhad 3 imes as many beads as Ahmad. Min packed all her beads equally info | bo not wite
: 42-boxes while Ahmad packed all his beads equally into 56 bags. There are 93 in this space
more beads in each box than each bag How many beads did Min and Ahmad

have alfogether?

~ Ans: 4]

SCORE

MAJPE/PL 12012 . Page 8 of 14 {Go on to the next page)




13.  Jack left Town A and fravelled towards Town B at a speed of 90 km/h. ,
45 min later, Mike left Town B and travelled towards Town A on the same road at a
speed of 120 km/h.

Town X was halfway between Town A and Town B. Jack passed Town X half an
hour after Mike had passed. Town X. Both of them did not change their speeds
throughout the joumney. If Mike l;eached Town A at 2.45 p.m., at what time did Jack
leave Town A?

Do not wite
in this space

SCORE

MA/P6/PLI2012 {Go on to the next page)
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14.  Inthe figure below, TankJisﬁledmthwatertom;bnménd’l'ank!(tsempty

Tap X drains water out of Tank Jata rateof4.5tpermmandTapYﬁilsTank K-

with water at a rate of 3 { per min.

At 11.45 am., Tap Xis tumed on. Tap Y is tumed on 12 minutes later. At what
fime will the heights of the water level in.both tanks be the same?

Tap Yg‘)

70 cm

o
:

. i P \. (\\ A 4
NS \ K 8
:'\\I - - 30 crn
K 80 cm o
Tank K
Ans : [4]
SCORE
MA/ PG/ PL 2012 Page 10 of 14 (Go on to the next page}
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15. - The figure below is made up of Squares EFGH and PQRS, a cirdle and two Do ot wite
- -~idenfical semicircles. J.and K are the midpoints.of PQ.and RQ respectively. in this space
P, Q, Rand S are the midpoints of EF, FG, GHandEHr&spechvely

Use the calculator value of x to find the total area of the shaded parts, comect fo
2 decimal places,

Ans : 41

SCORE

_MA/P6/PL{2012 Page 11 of 14 (Go on to the next page)




16.  (a)

(b)

11cm

The figure below.is made up of 4 identical rectangles and 3 shaded square.
The perimeter of each rectangle is 84.6 cm. The total area of the 4
rectangles is 646.87 cm® more than ‘the area of the shaded square.

What is the area of the shaded square? '

In the figure below, Square WXYZ overlaps Square ABCD such that its
comer W is placed exactly at the center of Square ABCD. The length of
CE is 6.5 cm and the length of CF is 4.5 cm. What is the aréa of the

shaded part?

A B
A

b
)

MAIPGIPLI2012 Page 12 of 14 {Go on ta the next page)

Ans: (a) ] [3}
(b) : __ 2]
SCORE

Oa not write
in this space
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17.  Atfirst, the ratio of the number of red butions fo the number of blue butfons in a
‘boxwas 4: 1. There were 288 more red buttons than blue butions. -

-Then, Halim added some red and blue buttons into the box. The number of red
buttons added was twice the number of blue butfons added. As a resuit, the
-Faio of the numbar of red buttons to e nutriber 6f blue buttions in the box

became 5:2.
(@) How mahy red buttons did Halim add info the box?

(b)  How many buttons were there in the box in the end?

Ans: (a) 2]
® ___ i
SCORE

Co mot wite
in this space

MAIE’GIPLIZO'12. Page 13 of 14 {Go on to the next page)




18. Chandra used some white and

grey tiles to form some patterns. The first four
pattems are shown below. :

Pattern 4

Pattemn 1 Pattern 2 Pattemn 3

The table below shows the number of grey and white tiles used for each pattern.

T

(a) Complete the table.above tor Pattern 7.

Do not ‘write
in this space

(1]
(b)  How many white files were uséd to form Pattemn 307
(c) How many tfles_ were used to form Pattern 867 .
Ans: (b) - i2]
(c) [2]
End of this Booklet
Setby : Mr Stanley Soh SCORE

MA /P6/PL 12012 ] Page 14 of 14
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Pei Chun Public School
Preliminary Examination, 2012
Primary 6, Mathematics
Paper 1, Booklet A & B

1) 1 l4) i [7) 4 |10) 2 [13) | 3
2) 1 5} 4 8) A 11y | 2 [14) 3
3) | .3 .6 1 9y 4 {12) 2 [15) 1
16) 7 17) 43 18) 25 19) 1 1 20) 2
9 4 20 12
21) 22} 4
) AN,
NG T/
P 28 I S, & -‘
3 N7
. ¢
23) - 24) 1st Hr =55
Hrleft=2-1=1
Grpof$2=1+%2
Cost=2x2=5%4
¢ Paid = $4 + $5 = $9
25) Area of Shaded Part = % x 9 x 11 = 48.5
26} Perimeterunit=3+3+2+2= 10
10unit = 40cm lunit=40+10=4
Length=4x3=12 Breath=4x2=12
Area=12x8=96
27} 4units =68 Remainder (Sunits) = 68 x 9 = 153
3units = 153 4units =153 <+ 3 x4 = 204
28) _Difference =45-25 = 20% 20% = 96m? )
Volume of tank = 96 x 5 = 480cm? Height =480 +40 =12
29) Diameter ofB=7x2=14 Diameterof A=10x2 =20

Perimeterz(%xrcx14)+(%xnx14)+(%x20xn)+7+7+(10-7)+(10«7)
=3.57+ 3.5 + 51t + 20 = {121 + 20)

30)  lunit=180-70- 70 = 40



1a)

2)

3)

4)

5)

6)

7}

9)

113

Paper2

Bottom Right Square 1b) South .

Cookies given to 4 children = 12h - 7h- 3 = Sh - 3

Sh -3
4

Cookies each child receives =

£BDC = 180 - 55° - 55° = 70°
ZABD = 60°
£ABE = 60 - 50° = 10°

£CBD = 55°
£ZBDF = 70° - 20° = 50°
£EBD = 50° (alt. £ are equal)

; 4
Girls wearing caps = .di X E = i Total no. of boys=1- _ = E
7. 3 ...21 7 .7
Boys wearing caps = 3 X E = _c'l Fraction of children= % & _2
7 5 35 21 35
_ 47
105
2 units of blue = 4 units of Green
+2
1 unit of blue = 2 units of Green
X3
3 units of blue = 6 units of Green
Ali Blue : Ali Green
6:5
20% of savings = -1% x 1200 =5168 Savings per month = 168 xS = $840

Monthly Satary = 1200 + 840 = $2040

Peter's Average = (83 + 74) = 2 = 78.5
Difference = 78.5 - 76.5 = 2

Peter's new Average =3+ 78.5 =815
Sue's test 3={76.5x3)-78-75 = 76.5

3 S

6th day=1- =§ ist day =
co oy 150
Remaining milk =1 - % T

Milk at first = 0.92 x 16 = 14.72 litres

Cost of tables =3 x 36 = 108
Difference’= 140 - 108 = 32
Total =19 x 108 + 19 x 140 = §4712

—Tb=

Sue's Average = (78 +75) + 2 = 76.5
Anincreaseof=5-2=3

Peter'stest 3 = (81.5x 3} -83 - 74 = 87.5
Difference =87.5 - 76.5 = 11

5 15
_5_ Sth day = =
48

of milk = 0.92litres

!

*
-0

1

l

Cost of chairs =28 x 5 = 140
No. of groups = 608 = 32 = 19




10}

11)

12)

13)-

14)

15)

16a)

16b)

114

a} Banana muffins sold = _1.;':7-_900 =153 b) Cheese & Vanilla = 50% - 17% = 33%
100 220units = 33% of pie chart
Cheese muffins sold = 33y 120 =189
220
Percentage of apples, orange & pear = 100% - 20% = 80%
Total fruits = 150 + 190 + 80 = 420 80% =420
420
Durians = 80 X 20 = 105 durians
1bag + 93beads = 1box " 42bags + 93 x 42 = 3906 = 42 boxes
42 + 3 = 14bags Ahmad has = 14bags + 3906 + 3 = 1302 = 56bags
42bags = 1302 1bag =1302 =+ 42 = 31beads
1box =31 + 93 = 124beads Beads in total = 31 x 56 + 124 x 42 = 6944
Jack {(45min) = 45 +~ 60 x 90 = 67.5km : - - Mike (30min) =30 = 60 x 120 = 60km
" Mike (more) =60 + 67.5 =127.5km =~ Difference in speed = 120 - 90 =30

Time Mike travelled = 127.5 + 30 = 4.25

Time taken for Mike to reach X = 4.25h- 0.5h=3 3

h
4

3
Time taken for Mike to travel to A = 3 E 2=7 %h

Time Jack left Town A = 2:45pm - 30mins - 1hr - 6hr - Smin - 40min = 6:30am

Volume of tank J = 50 x 40 x 90 = 180000

Volume of H?0 in 12min = 4500 x 12 = 54000

Remaining = 180000 - 54000 = 126000

Remaining Height = (126000 = 50) + 40 = 63

Decrease in height in tank J = 4500 + 50x40 = 2.25cm per min

Increase in height in tank K = 3000 + 80x30 = 1.25cm

Total water level per min = 2.25cm + 1.25¢m = 3.5e¢m

63 +3.5 = 18min _

Time that water level heights will be the same = 11:45am + 12mins + 18mins = 12:15pm

Area A = (Area of quadrant - area of triangle) +4=(nx14x14x%-% x 14 x 14 } =55.94cm?

Area of triangle = % x 14 x 7 = 49¢m?
Total area of shaded parts = 55.94 + 49 = 104.94cm?

Perimeter=L+ B + L+ B =84.6cm
L+B=846<+2=423

Area of 4 rectangle and 1 square = 42.3 x 42.3 = 1789.29¢m?
4 rectangles + square = 1789.29cm?

4 rectangles = square + 646.87cm?

square + 646.87 + square = 1789.29¢m?

2 squares = 1789.29 - 646.87 = 1142.42

Area of shaded square = 1142.42 = 2 = 571.21cm?

Area of square = 5.5 x 5x5 = 30,25¢m?
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17}  3units =288 lunit=288+3=96 Red=96x4 =384
Blue=288+3=96 :
R:B
384:96
+2unit : +1unit
- (x2)5:2 (x5) -
768 : 480
+4 units : +5 units
10:10
768 + 4 units = 480 + 5 units
768 - 480 = 5 units - 4 units
1 unit = 288

a) Red buttons added =288 x 2 =576
. Red buttons in the end:= 384 + 576 = 960
Blue buttons in the end =96 + 288 =384
'b)  Total buttons = 384 + 960 = 1344

18a3) 97
18b} White tiles used {n?x 2) =30%x 2 = 1800
18c) Tilesused (n+n-1)2+ 4 = (86 + (86-1)% + 4 = 29245
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